
Grille Installation Instruction 
 

Part# GR14HFE65J Application For 2007-2009 Nissan Altima  Sedan 
 

Page 1 of 1 

 

The instruction here is for your reference only. You may need to bend the billet grille bars or tabs a little bit 

to adjust to fit. We strongly recommend the professional installer for best result.  

Please use masking tape and tape the OEM grille shell along the edge to protect your vehicle during 

installation. 

We are not responsible for any damage caused by the installation. Thank you for choosing our product! 

Rev. 150116 

 

 

Parts List 

Item Part Name QTY Description Item Part Name QTY Description 

1 Billet Grille 1 Stainless steel 5 Screws (#6 Head)  4 8#  ×   1″ 

2 U-Nuts 2  8# 6 Plastic Push Type Fasteners  2  

3 Washers 4  7 Extension Brackets 2  

4 Nuts 4 10-24     

 
Install Notes:  Overlay                Replacement                 Drill                     Cut                            

Step Description illustration 

1 Identify the grille & hardware with parts list. 

 

2 
Pop hood, remove the black plastic cover (on top of OEM grille / front panel) from vehicle. This will allow access to the rear 
of the grille shell.  

3 

Remove the factory grille shell; use a small screwdriver to pull the center from six fasteners along the top of the grille and 
bumper cover. Next, lightly pull the top of the grille assembly forward; use a slotted screwdriver to depress the clips on each 
end of the grille. Use your fingers to depress the molded clips along the bottom of  the grille; remove the grille. If a bumper 
grille has been purchased, install at this time. 

4 

Slide the #8 u-nuts over the smaller hole in the extension brackets. Install the plastic push fasteners (do not tighten at this 
time) to secure the other end of extension brackets to the core support (1). Center the billet grille into the opening; align the 
upper extension brackets to the tabs on the billet grille. Use the #8 screws to secure the grille to the  brackets ( do not 
tighten at this time); it may be necessary to slightly bend the extension brackets for the optimum fit. 

5 

Center the lower grille trim under the grille. Slide the 
mounting studs into the factory mounting slots (2). 

Use the 1/4″washers and nuts to secure the grille 

trim. Tighten all the hardware; slowly close the hood 
and check grille to hood clearance. Check the hood 
prop rod mounting; it may be necessary to slightly 
bend the rod to clear the upper mounting brackets. 
Close the hood and check the alignment of the billet 
insert. If necessary, remove the insert and adjust 
the brackets. 

 

6 
Reinstall the black plastic cover which was removed 
in step 2. 

7 Installation completed!!! 

× 

 

√ 

 
√ 

 

× 

 


